POLYNOIMIALS

Definition_(1]_EXDression CD!’\SIShna o?mamu s

Standard Form_ WYHACN  \\ a\oha oaey mrm hiolesst
PRPONENYS B

Example: 2)@ 5% —4x + 7 * The highest exponent is called the d_ﬁQjY_C_e.‘

Classifying Polynomials: All polynomials are classified by degree and number of terms.

DEGREE NUMBER OF TERMS
0 Constant 1 Monomial
1 Linear 2 Binomial
2 Quadratic 3 Trinomial
3 Cubic 4 or more | Polynomial
4 Quartic

Classify the following polynomials by deqree and number of terms.

1.6 1._Lonsant  ynonormioil

2. -2 2.

3, 7x+1 3._lineaC ool

4. 2 +2x-5 4.

5. 4% -8 s. Ui, liinomion

6. 2 =7 - 5x + 1 6. AU avne, po\ujnom‘\a\
Write the following polynomials in standard form.

7. 3x+1+2¢ 7. 2.)(1' +7L)jk+‘

8. X+64—-x+7C 8.

9. X+ 5¢ + 28 -x 9. Xb"'éxt")\'\’l%

10. 24— + X 10.

11. 2ab + a’ + 5a%h? - 2b° 11, 0\6 3 F,ﬂib’!‘ +201b — Z-bs
12. 13- X3 + 5y 7xdy? 12, ~ ]Kb - 77\1\{1 + 6\\3 + 15
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Adding/Subtracting Polynomials
Example 1: (18x - 2x* + 1503x -10-8x) Example 2: (6x>+ 7x) = (10x + 3x3 + 2) Mono’T Q X PO ynd '\A‘
Ix "'IOX + 6 g axz = 5% . Z- ‘ Recall the Product Rule: X2 -Xb = Xa+ b .

Directions: Find each product. Final answers must be in standard form.
1. h(h + 4) 2. k(k-9) 3.9@+). . ;-3

Directions: Solve the following problems. Match that answer to the correct letter of the alphabet.
Enter that letter of the alphabet on the blank corresponding to the problem number.

D0 ND_u__ W +4h

T 1w Ty 15 8 7 6 15 2.6p(p-8) 5.3c(-2c-5) 6.-49°(2g + 7)

16 11 13 5 15 5 8 10 9 4 14 16 3

7. X0 = x +3) 8.5m’3m’-m - 7) 9.-3n(n’=2n + 8)
s Y L
T T P-x el
Sx=2 4x+11 5xt = 2 2 3x- =
A il S ey 0 e & AeS16 Ea=g 10. 2x(6x - 12x + 18) 11390+ + 7)) 12, 57572 + 35— 45))
J K L ] N o P
9x - 10y 2x? + 12x +10 ¥+2 Sx - Sy 3+ 10 -42x+8  2x+4y 2x -4y .
13, 3ab(4'a —-70° 14, -4cd}(9cd? - 4cd”) 15. 10m’n(-2mn° + 3n)

Q R s T u v w ' X . Y ‘w b_ Wb* '%ng‘r-i-lﬁcﬁhd-'

-12 2¢+5x-8 ¢ 12 Sx*+10x+6  13x+16x-10 x*-2 1 X +5x+2

2
SIVELRYS Directions: Distribute, then simplify the remaining expression. *
2 2 Final answer must be in standard form.

\A @2 ;{.;’i};;lr’i;) % Y el 16.” -2x(3x—4) + 7x 17. Sw(-7w + 3) + 2w(2w? +19W + 2)

2, (x+6)+(3x+5) 10. (3x=6y) +(2x+y)

3. (C+23-4)+(3x* +6) 11. (Sx—6) —(8x +2)

18. 4)-y(y-3)- 19. 6x(2x-3)-5(2 + 9x-3
O 4x-2y) (Zx 6y) ‘D @(3): +x- 4)-(4; -6+84) Yy +4)-yly-3)-9% X(2x = 3) = 5(2x" + 9x = 3)
ZR+4y t-3A+7
5. (X +6x—4) = (x* +6x— 4 13. (x ¢6x¢5)¢(x +6x+5)
il 3x° +6 —18x)0(dx —24x + 8)

& G ambx N = 3;'10)( 4244 & 20. 2(3m° + 5m + 6) + 3m2m’ + 3m + 1) 21, 3y(y-2) + 3/ + 2y + 1) = 3y(-5y + 3)

7. 3x+ 6y -8y +2x 15. (3x+6)~(3x~6) k -

8. Find the difference of (6x* + 3x—5) and (4x* - 2x + 3) 16. Subtract (6x* + 8x - 6) from (7x* + 8x —4)
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D, (X + L)X+ 2X + 1)
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7. (3x + 1)(5%° + 2x — 6)

553+ ok 2-1D X + SK%4 2% -
19%° +1X- lox - &




